
100 Questions

Que. 1 Directions: Study the following information carefully and answer the questions that follow.
Eight persons A, B, C, D, E, F, G, and H are sitting around a circle facing the center, with equal distance

between them but not necessarily in the same order. A sits third to the left of C. Only one person sits between A
and G. E sits second to the right of F. F is neither an immediate neighbor of A nor G. Only one person sits
between Band E. E is not an immediate neighbor of D.

Which of the following information is true regarding H?

Correct Option - 1

One of the immediate neighbors of H sits to the immediate right of D1.
H is an immediate neighbor of both A and B2.
Only three persons sit between H and C3.
H sits second to the left of F4.
None of the given option is true5.

Que. 2 Who amongst the following represent the people who sit exactly between A and C, when counted from
left of C?

Correct Option - 1

B, G1.
D, F2.
E, H3.
E, F4.
F, H5.

Que. 3 What is E's position with respect to the one who is to the immediate right of D?

Correct Option - 4

Second to the left1.
Third to the right2.
Immediate left3.
Second to the right4.
Third to the left5.

Que. 4 How many persons are sitting between B and D, when counted in anti clockwise direction from B?

None1.
One2.
Two3.
More than three4.
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Correct Option - 3

Three5.

Que. 5 Who is sitting to the immediate right of G?

Correct Option - 2

D1.
C2.
H3.
B4.
F5.

Que. 6 Directions: Study the following information carefully to answer the given questions:
2 P J # 8 @ L B 1 V * Q 6 < G W 9 K C D 3 & % > 5 F R 7 A Y 4

How many symbols and numbers are there in the sequence which are either immediately preceded or
immediately followed by the letter which is from the first half of the English alphabet?

Correct Option - 2

41.
82.
93.
104.
None of these5.

Que. 7 Four of the following five are similar in relation to their positions in the above sequence and hence form
a group. Which one does not belong to that group?

Correct Option - 3

Q K 51.
L 6 D2.
P L <3.
1 G &4.
K > 45.

Que. 8 If each symbol exchanges its position with its immediate right symbol/letter/number. Now, how many
letters are there in the sequence which are immediately followed by a number and immediately preceded

by a symbol?

None1.
One2.
Two3.
Three4.
More than three5.
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Correct Option - 3

Que. 9 P # L is related to Y 7 5 in the same way as @ 1 * is to?

Correct Option - 5

R > &1.
F > 32.
5 > &3.
5 % D4.
F % 35.

Que. 10 Which of the following indicates the total number of symbols, letters and numbers respectively which
get eliminated from the sequence when every second element of the sequence from your left is dropped

from the sequence?

Correct Option - 1

5, 9 & 11.
1, 5 & 92.
9, 1 & 53.
8, 0 & 64.
None of these5.

Que. 11 How many pairs of letters are there in the word “COMPETITION” each of which has as many letters
between them as in the English alphabetical series in both forward and backward directions?

Correct Option - 3

Two1.
Four2.
Five3.
Three4.
One5.

Que. 12 Direction:Study the information given below carefully and answer the questions based on it.
In a family of 7 members, there are 2 married couples. There is no single parent in the family. T is the

only son of P. L is the only daughter of K, who is the father of two children. S is the maternal uncle of I who is a
sibling of T. M is the maternal grandmother of T.
How L is related to T?

Mother1.
Mother-in-law2.
Father3.
Father-in-law4.
Sister5.
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Correct Option - 1

Que. 13 How is P related to S?

Correct Option - 3

Brother1.
Mother-In-Law2.
Brother-In-Law3.
Father-in-law4.
Husband5.

Que. 14 How many female members are there in the family?

Correct Option - 3

51.
42.
33.
24.
15.

Que. 15 Directions:In the following question assuming the given statements to be true, find which of the
conclusion among the given conclusions is/ are definitely true and then give your answers accordingly

Statements:Q = O≤ V≥ R; A≥ B; R = A
Conclusions:
I. V > B
II. V = B

Correct Option - 3

Only I follows1.
Both I and II follow2.
Either I or II follows3.
Neither I nor II follows4.
Only II follows5.

Que. 16 Directions: In the following question assuming the given statements to be true, find which of the
conclusion among given conclusions is/are definitely true and then give your answers accordingly.

Statements:A≥ K≥ C = D = M≥F≤ G≤H = I
Conclusions:
I. K> D
II. I≤ C

Only I is True1.
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Correct Option - 5

Only II is True2.
Both I and II are True3.
Either I or II is True4.
None of these5.

Que. 17 Directions:In the following question assuming the given statements to be True, find which of the
conclusion among given conclusions is/are definitely true and then give your answers accordingly.

Statements:
D < M ≤ T > K; D ≥ J ≥ G; S = K
Conclusions:
I. T > G
II. G ≤ T

Correct Option - 1

Only I is true1.
Only II is true2.
Either I or II is true3.
None is true4.
Both I and II are true5.

Que. 18 Direction: Study the following information to answer the given questions:
Eight persons A, B, C, D, E, F, G, and H joined a company in different months among April, May,

June, and July but not necessarily in the same order. Each of them joined on either 11th or 18th of the month.
Each of them joined in the same year. No two persons joined on the same day.

C joined on 18th of the month, which contains 30 days. F joined just after A but not in the same months. E joined
after G but not on 18th July. B joined just after D. Two persons joined between C and G.

______ joined on 18th July.

Correct Option - 4

C1.
B2.
A3.
H4.
G5.

Que. 19 How many persons joined before F?

Three1.
Four2.
Five3.
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Correct Option - 2

One4.
Two5.

Que. 20 Four are the same in a certain way thus forms a group. Which among the following does not belong to
the group?

Correct Option - 5

D1.
B2.
F3.
C4.
G5.

Que. 21 Which of the following statement is correct?

Correct Option - 3

B joined in May1.
Three persons joined before D2.

F joined on 11th June3.

Only two persons joined between G and H4.
All are correct5.

Que. 22 How many persons would have joined on the same day if the persons are arranged in alphabetical
order, if they arranged from top to bottom?

Correct Option - 4

Three1.
Four2.
One3.
Two4.
Five5.

Que. 23 Direction: In the question below are given three statements followed by twoconclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
All A are B .
Only a few C are E .
Some B are C.
Conclusions:
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I. Some E can never be A .
II. Some E can be A .

Correct Option - 2

Both I or II follows1.
Only II follows2.
Only I follows3.
Either I or II follows4.
None follows5.

Que. 24 Directions: In the question below are given two statements followed by two conclusions numbered
Iand II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Only a few people are men.
Only a few men are women.
Conclusions:
I. Some women are men.
II. All people are men.

Correct Option - 1

Only I follow1.
Only II follow2.
Either I or II follows3.
Neither I nor II follows4.
None of these follows5.

Que. 25 Direction:In each of the questions below are given three statements by two conclusions. You have to
take the given statements to be true even if they seem to be at variance with commonly known facts.

Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.
Statements:
Only a few Pants are Shirts
Some Shirts are Dress
All Dresses are Shorts
Conclusions:
I. Some Shorts are Shirts
II. Some Dresses are Pants
III. No Shirt is Pant

None follows1.
Either I or III follows2.
Only III & I follow3.
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Correct Option - 5

Only II & III follow4.
Only I follow5.

Que. 26 Statements:
Some cars are Bus

Only a few Bus are Autos
All Autos are trains
Conclusions:
I. All cars are buses is a Possibility
II. Some Buses are Trains
III. Some cars are Autos

Correct Option - 2

None follows1.
Only I & II follows2.
Only III & I follow3.
Only II & III follow4.
Only I follow5.

Que. 27 Directions: Study the following information carefully and answer the questions following it.
Eight people A, B, C, D, E, F, G, and H are sitting in a row facing north, but not necessary in the same

order. A sits thirdfrom the left end. There are only one people sitting between A and D. F sits at one of the
extreme ends. C sits second to the right of A. Only three people sit between A and B. Neither E nor H sits at
extreme end. G sits third to the right of D. Only one people sits between E and F.

Who sits immediate right of A?

Correct Option - 1

G1.
H2.
C3.
B4.
None of these5.

Que. 28 How many person sit between H and E?

Zero1.
Two2.
Three3.
One4.
More than three5.
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Correct Option - 3

Que. 29 Who sits third to the left of F?

Correct Option - 2

A1.
C2.
D3.
G4.
E5.

Que. 30 Who sits second to the right of H?

Correct Option - 1

G1.
A2.
C3.
H4.
None of these5.

Que. 31 Who sits second to the left of E?

Correct Option - 4

H1.
A2.
C3.
G4.
None of these5.

Que. 32 Direction: Read the following information carefully and answer the question that follows.
A certain number of persons sit in a row facing north direction. All of the above information is not

necessary in the same order.
There are five persons between the P and R, which is right of P. Number of persons between P and S is same as it
is between R and B. B sits tenth to the right of P. T is second to the left of the R. C is immediate neighbour of R.
M is to the immediate left of Q and and five persons between the R and V. Number of persons between B and N
Ёs same as it is between B and M. Q is forth to the right of B.

What is the total number of persons can be sitting in this row?

201.
102.
153.
194.
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Correct Option - 4

255.

Que. 33 Who is sit exactly between the person V and Q?

Correct Option - 5

S1.
P2.
T3.
C4.
M5.

Que. 34 Who is sitting in the right end of the row?

Correct Option - 4

S1.
P2.
B3.
Q4.
C5.

Que. 35 How many meaningful English words can be formed with the First, the second, the fourth, and the
sixth letters of the word PLATFORM, using each letter only once in each word?

Correct Option - 3

Three1.
Two2.
One3.
Four4.
None5.

Que. 36 The given table shows the number of persons (Male + Female) working in three different companies
(P, Q, and R) over three different months: January, February, and March. Please read the data carefully

and answer the questions.


Companies

Number
of persons

(Male +
Female)
working

in
January

Number of
persons
(Male +
Female)

working in
February

Number
of persons

(Male +
Female)
Working
in March

P 350 400 300
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Q 450 500 600

R 700 550 650

Number of persons working in company Q in February is increased by x then the ratio between number of
persons working in company Q January to February is 3: 4. Find the value of x.

Correct Option - 3

2501.
502.
1003.
1504.
2005.

Que. 37 Find the ratio between the number of persons working in company P and Q in February to the number
of persons working in company P and Q in march.

Correct Option - 4

1: 21.
2: 12.
2: 33.
1: 14.
3: 25.

Que. 38 If the number of persons working in January from companies P, Q and R is 20%, 40% and x% are
married respectively, and the total married working in all three companies P, Q and R in January is

390. Find the value of x.

Correct Option - 3

451.
302.
203.
154.
405.

Que. 39 Number of females working in company Q in March is 3/5 th of the total persons working in company
Q in march and number of females working in company R in march is 7/13 out of total persons

working in the same company ,Find the difference between number of females working in March in company Q
and R.

351.
102.
153.
304.
255.
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Correct Option - 2

Que. 40 Number of males to females working in January from company P is 4: 3 and 30% of the persons
working in company P in February are females then find the total males working in company P in

January and February.

Correct Option - 3

3701.
3402.
4803.
3604.
3205.

Que. 41 What will come in place of question mark (?) in the following question?

(√64 + 3)3 = 750 + ?

Correct Option - 2

5761.
5812.
5883.
5904.
6225.

Que. 42 What will come in place of question mark (?) in the following question?
(√36 × √64) /4 = ?

Correct Option - 5

141.
62.
83.
104.
125.

Que. 43 What will come in the place of the question mark ‘?’ in the following question?
60% of 750 - 30% of 100+ 20% of 200 = ?

4441.
4602.
4553.
4664.
4885.
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Correct Option - 2

Que. 44 What should come in place of question mark '?' in the following equation?
76/37 × 148/57 × 87/8 = ?

Correct Option - 5

681.
782.
733.
644.
585.

Que. 45 What should come in place of question mark (?) in the following question?
(47% of 2350) – (41% of 1150) = ?

Correct Option - 1

6331.
4332.
6733.
6364.
6435.

Que. 46 What will come in the place of ‘?’ in the following question?
(200× 19) ÷ 400 × 10= ?

Correct Option - 2

851.
952.
1003.
1054.
1105.

Que. 47 What will come in the place of ‘?’ in the following question?
(240× 12) ÷ 480 × 10 + 4 = ?

Correct Option - 3

441.
562.
643.
354.
125.
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Que. 48 What will come inplace of the question mark '?' in the following question:
726 ÷ 121 + 5 × 6 – 36 = ?.

Correct Option - 4

51.
42.
23.
04.
None of these5.

Que. 49 What value can come inplace of the question mark (?) in the question below?
60% of 450 - 120 = ? + 140

Correct Option - 2

91.
102.
203.
254.
155.

Que. 50 What should come in place of question mark in the following equation
13× 6 - 12× 4 + 23 = ?

Correct Option - 1

531.
432.
333.
234.
None5.

Que. 51 What should come in the place of the question mark ‘?’ in the following question?
18000 ÷ 6 ÷ 5 ÷ 4 ÷ 3 ÷ 2 = ?

Correct Option - 1

251.
152.
353.
554.
None of these5.
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Que. 52 What should come in place of the question mark (?) in the following question?
(√256× √25) ÷ √16 = ?

Correct Option - 4

401.
102.
253.
204.
155.

Que. 53 What will come in the place of the question mark ‘?’ in the following question?
25 × 40 + 20 ÷ ? = 1020

Correct Option - 5

21.
32.
103.
124.
15.

Que. 54 What will come in the place of the question mark ‘?’ in the following question?

22× 43× 82÷ 16 = 2?

Correct Option - 5

121.
112.
83.
94.
105.

Que. 55 What will come in the place of 'x' in the following question?
3x - (1/2) of 80 + 60% of 50 = 110

Correct Option - 2

301.
402.
503.
604.
705.

https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb


Que. 56 Shopkeeper sold an article to person A at a profit of 10% and the same article was sold to person B at a
profit of 20%. The overall profit is Rs.120 then find the cost price of an article.

Correct Option - 2

Rs. 4701.
Rs. 4002.
Rs. 4203.
Rs. 4504.
Rs. 4805.

Que. 57 The salary of Kavya is Rs.12500. From her salary, she spends some amount on groceries and the
amount spends on rent is Rs.2000 more than groceries. She saves the remaining Rs.4500. Find the ratio

of the amount spent on groceries and rent respectively.

Correct Option - 4

5: 71.
5: 32.
2: 33.
3: 54.
3: 25.

Que. 58 Two trains X and Y have a speed of 43 kmph and 29 kmph respectively. Train X crosses aman standing
in train Y in 27 seconds while moving in the opposite direction. Find the length of train X.

Correct Option - 4

420 m1.
480 m2.
360 m3.
540 m4.
510 m5.

Que. 59 The ratio of efficiency of A to B and the ratio of efficiency of B to C is 5: 8 and 28: 15 respectively. If
A and C worked together, then the work will be completed in  days.Find the number of days

required for B alone to complete the work.

Correct Option - 2

12
12

13

18 days1.
15 days2.
12 days3.
16 days4.
20 days5.

Que. 60
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A person invested an amount of Rs. 2000 partly in a 6% simple interest scheme and the remaining in a 7% simple
interest scheme. If the total interest obtained after one year is Rs. 125. Find the amount that is invested in a 6%
simple interest scheme.

Correct Option - 3

Rs. 18501.
Rs. 17502.
Rs. 15003.
Rs. 12504.
Rs. 12005.

Que. 61 Ratio between upstream and downstream speed of the boat is 7: 9. If the difference between the time
taken by boat to cover 378 km is 4 hours. Find the speed of the stream.

Correct Option - 3

8 kmph1.
6 kmph2.
3 kmph3.
4 kmph4.
7 kmph5.

Que. 62 The side of the square is equal to the radius of the circle whose circumference is 396 cm. Find the area
of the square?

Correct Option - 2

4239cm²1.
3969cm²2.
3789cm²3.
3459cm²4.
3158cm²5.

Que. 63 There are three pipes A , B and C connected with the tank A and B are the inlet pipes and time taken by
them to fill the tank is 54 minutes and 72 minutes respectively.If Pipe C is an outlet pipe can empty the

tank in 108 minutes. If A and B opened for 10 minutes and time taken by pipe C to empty the tank.

Correct Option - 3

45 minutes1.
50 minutes2.
35 minutes3.
28 minutes4.
42 minutes5.

Que. 64
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P and Q entered into a partnership with the investment Rs. 9500 and Rs. 6500 respectively. P and Q left after 7
months and 8 months respectively. At the end, the profit share P is Rs. 348 more than the profit share of Q, find
the profit share of Q?

Correct Option - 3

Rs. 14481.
Rs 11462.
Rs. 12483.
Rs 15684.
Rs. 17365.

Que. 65 4 years ago, the ratio between the ages of A and B is 11: 8. The age of A after 2 years is 10 years more
than the age of B after 4 years. Find the present age of B?

Correct Option - 3

45 years1.
40 years2.
36 years3.
38 years4.
42 years5.

Que. 66 What will come in place of question mark (?) in the following series?
32  48  24  36  18  ?

Correct Option - 4

351.
252.
493.
274.
305.

Que. 67 What should come in place of the question mark '?' in the following number series?
21, 34, 55, 89, ?, 233

Correct Option - 1

1441.
1372.
1263.
1644.
1355.

Que. 68 Find the missing number in series
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5, 10, 16, 23, 31, 40, ?

Correct Option - 3

951.
1002.
503.
1054.
1205.

Que. 69 What should come in place of the question mark '?' in the following number series?
7, ? , 14, 56, 448

Correct Option - 2

51.
72.
93.
04.
45.

Que. 70 What should come in place of the question mark '?' in the following number series?
12, 6, 6, 12, 48, 384, ?

Correct Option - 4

30721.
38402.
62763.
61444.
50405.

Que. 71 Directions: In the following question, the given table has two columns (IandII) containing three
phrases each. The phrases are labelled A, B, and C in the first column and P,Q, and R in the

second column. A phrase from the first column may or may not connect with a phrase in the second
column to make a grammatically and contextually meaningful sentence. Identify the correct option given
below that gives the correct sequence in which one or more sentences can be formed. If none of the options
make a meaningful sentence, mark 'None of these' as your answer.

Column I Column II
(A)As long as you are still alive, you
will definitely (P)encounter the good things in life.

(B)From the moment I saw his
girlfriend, I thought I definitely

(Q)undoubtedly she had been
eavesdropping on his meeting.

(C)When Bill opened his office door
and Ann fell onto his floor, he knew

(R)temperamental similarities
between the brothers.
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Correct Option - 1

A-P and C-Q1.
A-Q and B-R2.
B-R and C-R3.
A-R and B-Q4.
None of these5.

Que. 72 Directions: In the following question, the given table has two columns (IandII) containing three
phrases each. The phrases are labelled A, B, and C in the first column and P,Q, and R in the

second column. A phrase from the first column may or may not connect with a phrase in the second
column to make a grammatically and contextually meaningful sentence. Identify the correct option given
below that gives the correct sequence in which one or more sentences can be formed. If none of the options
make a meaningful sentence, mark 'None of these' as your answer.

Column I Column II
(A)If taking a taxi costs too much,
you can alternatively

(P)headed to the park for our long-
awaited picnic.

(B)They were gratified to find
specific performance and

(Q)use Uber, which may be
cheaper.

(C)Though we saw the clouds
looming overhead, we, nonetheless,

(R)almost as well as that self-
opinionated young architect had.

Correct Option - 1

A-Q and C-P1.
A-P2.
C-Q3.
B-Q and C-R4.
None of these5.

Que. 73 Directions: In the following passage, some words have been deleted. Select the most appropriate 
option to fill in each blank.

There are many other takeaways. While pre-poll surveys suggested that inflation topped voters’ ___(1)___,
abortion rights came second. While the Republicans tried to cash in on voter ___(2)___ over high inflation, many
of their candidates’ anti-abortion positions did not help them in the polls. Second, the results showed that Donald
Trump is not as powerful as he appeared to be. During the Republican primaries, the former U.S. President’s
endorsement mattered a lot. But it does not carry the same weight in the general elections. Several of the
candidates he ___(3)___ were defeated, while at least two Republican winners were unwelcome to him —
Georgia’s Governor Brian Kemp and Florida Governor Ron DeSantis. While Mr. Trump is expected to make his
2024 bid this week, many Republicans are already ___(4)___ him for the party’s less-than-expected
performance. The results have also underscoredthe unstoppable ___(5)___ of Mr. DeSantis. His landslide win in
what was called a swing State has ___(6)___ calls by Republican donors for his presidential bid. Many see Mr.
DeSantis as a more ideologically disciplined right-winger than Mr. Trump (who, in their view, could lead the
party to victory). The midterm has set the stage for 2024. The Democrats have lost ground, but still stay strong.
The Republicans are set to take the House but are internally divided, and right-wing extremism is not winning the
party votes. How the parties address these challenges will ___(7)___ their fate in 2024.
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Select the most appropriate option to fill in blank number 1.

Correct Option - 3

Discerns1.
Yearns2.
Concerns3.
Scorns4.
Adorns5.

Que. 74 Select the most appropriate option to fill in blank number 2.

Correct Option - 5

Contentment1.
Achievement2.
Abatement3.
Attenuation4.
Resentment5.

Que. 75 Select the most appropriate option to fill in blank number 3.

Correct Option - 1

Endorsed1.
Contradicted2.
Gainsaid3.
Rebutted4.
Confronted5.

Que. 76 Select the most appropriate option to fill in blank number 4.

Correct Option - 4

Absolving1.
Exonerating2.
Vindicating3.
Blaming4.
Exculpating5.

Que. 77 Select the most appropriate option to fill in blank number 5.

Disgorge1.
Rise2.
Relinquish3.
Cede4.
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Correct Option - 2

Spout5.

Que. 78 Select the most appropriate option to fill in blank number 6.

Correct Option - 5

Undermined1.
Impaired2.
Sapped3.
Impeded4.
Strengthened5.

Que. 79 Select the most appropriate option to fill in blank number 7.

Correct Option - 3

Withdraw1.
Revoke2.
Determine3.
Rescind4.
Adjourn5.

Que. 80 Directions: In the following questions, one part of the sentence may have an error. Find out
which part of the sentence has an error and click the button corresponding to it. If the sentence is

free from error, click the "No Error" option.
He is my best friend, (A)/ and he hasinformed me (B)/ about him visit tothe beautiful city (C)/ of Paris next
week. (D)/ No error (E)

Correct Option - 3

A1.
B2.
C3.
D4.
E5.

Que. 81 Directions: In the following questions, one part of the sentence may have an error. Find out
which part of the sentence has an error and click the button corresponding to it. If the sentence is

free from error, click the "No Error" option.
ChatGPT is doing wonders, (A)/ but the outdated informations provided (B)/ by its free version is creating
troubles (C)/ for the people relying on it. (D)/ No error. (E)

A1.
B2.
C3.
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Correct Option - 2

D4.
E5.

Que. 82 Directions: In the following questions, one part of the sentence may have an error. Find out
which part of the sentence has an error and click the button corresponding to it. If the sentence is

free from error, click the "No Error" option.
Millions of stars in the sky (A)/ were talking to each other, (B)/ hovering in the endless, dark, cold, (C)/ and
silent space of nothingness. (D)/ No error. (E)

Correct Option - 2

A1.
B2.
C3.
D4.
E5.

Que. 83 Directions: In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and click the button corresponding to it. If the sentence is free

from error, click the "No Error" option.
Microorganisms like harmful bacteria (A)/ can enter into our bodies, (B)/ have devastating effects on our health,
(C)/ and even cause deadly poisoning. (D)/ No error. (E)

Correct Option - 2

A1.
B2.
C3.
D4.
E5.

Que. 84 Directions: In the following questions, one part of the sentence may have an error. Find out
which part of the sentence has an error and click the button corresponding to it. If the sentence is

free from error, click the "No Error" option.
The head minister, (A)/ together with his advisors, (B)/ are attending theG20 Culture (C)/ Ministerial Meeting in
Varanasi. (D)/ No error. (E)

Correct Option - 3

A1.
B2.
C3.
D4.
E5.
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Que. 85 Directions: In the following questions, one part of the sentence may have an error. Find out
which part of the sentence has an error and click the button corresponding to it. If the sentence is

free from error, click the "No Error" option.
It was a spectacular performance, (A)/ really loud and hyped up, (B)/ and the audience clapped itshands (C)/
after the performance, purely out of joy. (D)/ No error. (E)

Correct Option - 3

A1.
B2.
C3.
D4.
E5.

Que. 86 In the following sentence, four words are given in bold out of which one word is misspelled. Find
the misspelled word

Oil pools are valuable underground accumulations(A) of oil, and oil fields(B) are regions underlein(C)by one
or more oil pools originating(D)from organic matter.

Correct Option - 3

A1.
B2.
C3.
D4.
No error5.

Que. 87 In the following sentence, four words are given in bold out of which one word is misspelled. Find
the misspelled word

Biodiversity or Biological Diversity is immensely(A) rich in wildlife and cultivated species, diverse(B) in form
and function but closely integrated(C) into a system through multiple networks of interdependncies(D)

Correct Option - 4

A1.
B2.
C3.
D4.
No error5.

Que. 88 In the following sentence, four words are given in bold out of which one word is misspelled. Find
the misspelled word

The clear lesson from the dynamics(A) of both environmental destruction(B) and reconstruction in India is that
local communitties(C)everywhere have to be involved in some kind of natural resource management(D)

A1.
B2.
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Correct Option - 3

C3.
D4.
No error5.

Que. 89 In the following sentence, four words are given in bold out of which one word is misspelled. Find
the misspelled word

A poem is a composition in verse(A), usually characterized by concentrated and heightend(B) language in
which words are chosen for their sound and suggestive(C) power as well as for theirmeaning and using
techniques such as rhythm(D) and meter.

Correct Option - 2

A1.
B2.
C3.
D4.
No error5.

Que. 90 Direction: Evaluate the following word, accompanied by three sentences containing it. Determine
the sentence(s) that accurately convey the meaning of the given word.

APPRECIATE
A. I appreciate your kindness and support during this difficult time.
B. My antique collection has significantly appreciated in value over the years.
C. The value of my car will appreciate over time, causing it to be worth less in the future.

Correct Option - 1

Both A & B1.
Both B & C2.
Both A & C3.
All A, B & C4.
Only A5.

Que. 91 Direction: Evaluate the following word, accompanied by three sentences containing it. Determine
the sentence(s) that accurately convey the meaning of the given word.

Edition
A. The second edition of the fantasy novel included exclusive illustrations.
B. The chef prepared a special edition of the dessert, using a recipe from his grandmother.
C. Due to heavy traffic, she took an edition route to work this morning.

Only A1.
Both A & B2.
Only C3.
All A, B & C4.
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Correct Option - 2

None of these5.

Que. 92 Directions: Read the given passage carefully to answer the following questions. Each question
will have five alternatives as its answer. Choose the correct option as your answer.

Dolphins, often celebrated in folklore and admired for their intelligence, agility, and friendly demeanor, are
indeed one of the sea's most fascinating inhabitants. These mammals, belonging ___ the family Delphinidae,
navigate the vast expanses of the ocean with a grace and efficiency that has captivated human imagination for
centuries. With over 40 species of dolphins discovered to date, they are a testament to the adaptability and
diversity of marine life.
One of the most remarkable aspects of dolphins is their sophisticated echolocation ability, which they use to hunt
for food and navigate through murky waters. This biological sonar enables dolphins to emit sound waves that
bounce off objects, allowing them to "see" their surroundings through sound. This skill is not just a testament to
their intelligence but also a critical adaptation for survival in the diverse and sometimes challenging
environments they inhabit.
Dolphins are also known for their complex social structures. They live in pods, which can vary in size from a few
individuals to over a thousand, depending on the species and environment. These social units are crucial for their
survival, aiding in hunting, raising young, and protecting each other from predators. The intricate social
behaviors observed in dolphins, including cooperation, altruism, and even grieving, reflect a level of social
intelligence that is rare in the animal kingdom.
The relationship between dolphins and the sea is symbiotic and essential. The sea provides a habitat rich in
resources, enabling dolphins to thrive. In return, dolphins play a significant role in the marine ecosystem. As
apex predators, they help maintain the balance of marine life by controlling fish populations, which can
contribute to the health of coral reefs and other marine habitats. Furthermore, dolphins are indicators of ocean
health, with their presence or absence often signaling shifts in environmental conditions.
Despite their significance, dolphins face numerous threats from human activities, including pollution, climate
change, and entanglement in fishing gear. Conservation efforts are essential to ensure that dolphins continue to
flourish in the oceans. Protected marine areas, sustainable fishing practices, and ongoing research and education
are critical components of these efforts.
In conclusion, dolphins are not just captivating creatures of the sea; they are pivotal to the marine ecosystem's
health and diversity. Their intelligence, social complexity, and symbiotic relationship with the ocean make them a
subject of endless fascination and an important focus for conservation. As we continue to unravel the mysteries
of these extraordinary animals, it is imperative that we also take steps to protect them and the vibrant habitat they
call home.

Choose the synonym for the word "sophisticated" as used in the passage:

Correct Option - 3

Primitive1.
Simple2.
Complex3.
Unrefined4.
Basic5.

Que. 93 Why are conservation efforts deemed crucial for dolphins, based on the passage?

Due to their diminishing role as apex predators.1.
Because dolphins are the main attraction of marine-themed parks.2.
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Correct Option - 3

To prevent the potential extinction of many dolphin species.3.
To ensure the uninterrupted entertainment of humans.4.
Because they are the primary source of nutrients for other marine creatures.5.

Que. 94 Choose the synonym for the word "crucial" as used in the passage.

Correct Option - 2

Insignificant1.
Vital2.
Unimportant3.
Trivial4.
Optional5.

Que. 95 What adaptation do dolphins use for hunting and navigating through murky waters, as described in the
passage?

Correct Option - 2

Their ability to swim at high speeds.1.
Sophisticated echolocation abilities.2.
The ability to breathe underwater for extended periods.3.
Changing skin color for camouflage.4.
Using aquatic plants to trap prey.5.

Que. 96 Which of the following statement(s) can be true as per the passage?
A. Dolphins are known for their remarkable ability to heal from injuries rapidly, including significant

wounds from sharks or boats.
B. The use of echolocation by dolphins is primarily for communication purposes, rather than for navigation or
hunting.
C. Dolphins have been observed using tools, such as marine sponges, to protect their snouts while foraging on
the seafloor.

Correct Option - 4

Only A1.
Only B2.
Only C3.
A and C4.
All A, B, and C5.

Que. 97 Choose the antonym for the word "diverse" as used in the passage:

Varied1.
Homogeneous2.
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Correct Option - 2

Different3.
Disparate4.
Multifaceted5.

Que. 98 Fill in the Blank:"These mammals, belonging ___ the family Delphinidae, navigate the vast
expanses of the ocean with a grace and efficiency that has captivated human imagination for centuries."

Correct Option - 4

inside1.
against2.
over3.
to4.
under5.

Que. 99 Which of the following statement(s) can be false as per the passage?
A. Dolphins communicate solely through body language, lacking any form of vocal communication.

B. The diet of dolphins consists entirely of plant-based materials, such as seaweed and aquatic plants.
C. Dolphins' social structures are flexible, allowing them to form various types of groups based on activities and
social connections.

Correct Option - 5

Only A1.
Only B2.
Only C3.
All A, B, and C4.
A and B5.

Que. 100 What role do dolphins play in maintaining the balance of marine life, according to the passage?

Correct Option - 3

They primarily contribute to pollination in marine environments.1.
Dolphins are significant in maintaining the aesthetic beauty of the oceans2.
As apex predators, they control fish populations contributing to the health of marine habitats.3.
Their main role is to provide entertainment for humans and other marine animals.4.
Dolphins are primarily responsible for guiding lost sea animals back to their habitats.5.
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